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3A/108A | STCE | 1 2 0,25 }
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4020 C STCE | 3 2 | 0725 190 maximum 11
102 D WE 1 21 | 1 130 08 051 ' 296 58 °
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1) vide *4
?) vide PTT 2 gr. 92
Equivalents
E 132 Marc = 4607 $ 4020-B STCS = 3A/108B | 209 A WE = 102D
LH 206 Low = 4605 TS 5 Phi = 4607 4020 A STCE = 3 A/108 A
LU 206 Low = 4605 TS 9 Phl = 4631 4020 AS STCE = 3 A[108 A
LV 206 Low = 4605 102 A WE = 102D 4020 B STCE = 3 A/108 B
P 420 Tu = 3A/108A | 102DW WE = 102D ‘ 4020 BS STCE = 3 A[108 B
R 87 Dar = 4607 102 E WE = 102D ' 4102 D STCE = 102D
S 4020-A  STCS = 3AJ108A | 201 B WE = 102D 4102 E STCE = 102D
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